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wppblolok [ EERRE ] kbl

No. 3 4 5 6 15 it HE

E F A CSR CSR GSR CSR CSR I 2
M EH #A sk kkk kkk kkk kkk 15 1 P
14 £k sokk kokk kekk skkk kkk 15 1 P
21 #2%5 Bl sk kokk kkk kkk kkk 15 1 P
24 EHh —ER sokk kokk kekk kkk kkk 15 1 P
26 hngk B sk kokk kkk kkk kkk 15 1 P
34 KR FREE sokk kokk kokk kkk kkk 15 1 P
36 L H= sk kokk kkk kkk kkk 15 1 P
=% = 15
sppklok [ R B ] kokokkkkk
No. E F K % 3 4 5 615 JEfSL
¥ H Cha cha
1 TH# 17 5 7 17 2 10
14 ik /$:|z 2 12 2 3 1.0
21 #2% B 3 7 5 3 4 3.0
24 =Hh —HB 6 2 1 5 6 4.0
26 M0k RS 1 6 3 6 5 50
34 KiR HZE 5 4 6 4 7 6.0
36 Ly H=x 4 3 41 1 20
E H Samba
1 TH &4 77 7 11 170
14 1£5% T 2 3 2 3 2 1.0
21 2% Bu# 3 4 4 7 3 3.0
24 mHh —HB o 1 1 4 4 20
26 fnpE B 1 6 5 2 5 50
34 KiR HZE 6 5 6 6 6 6.0
36 L H=E 4 2 3 5 7 40
# B Rumba
1 TH A 7 5 7 17 3 1.0
14 £ FT 2 4 2 2 6 2.0
21 #2% B 3 3 46 5 50
24 =Hh —HB 5 7 3 3 2 3.0
26 M0k RS T 11 41 10
34 KiR HZE 4 6 6 5 7 6.0
36 Ly H=x 6 2 51 4 40
WERER
No. 2 F K & C S R &t &8
1 TH &4 7.07.07.021.0 7.0
14 1£5% =T 1.01.020 40 1.0
21 2% Bu# 3.03.05.011.0 4.0
24 mHh —HB 402030 9.0 2.0
26 ik B 5.0501.011.0 5.0
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